(0 @) (rad)

SICEWATL

o p/p.)

Ratio

a(d cot(d))
5

1072

1073

: : : : : + |
AT R .+.=$.. T ST T S el L

R TR A - I T
o +++++m i e '§++Jr++

2 3 —1
1 TPlpoT (PCA t%obeamliné[f) 10 1

2 3
TPlpoT (PCA t%obeamliné[f)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewBinsDC1000time__RECO

1::

z

oo a,) (cm)

1072

4
3

,_.
<
L

..............................................




	Contents
	Page 1


